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Qflejmr : (1) Aoaisg famssend sflurs oiEal udeurd e eratsT eraTLgman

sfluriggis Careareraybd. Faiudeled @amnuimuler @i@mns
sansranfluurerflb o Lamnguwirs Ggflelssean.

(2) Bed g MmUY @wbulmen LLHGD eripgeusHEL LWETURSS
Geuer(Hitd. UL is6T euenreusnE Quendled LweTLHS e .

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Black or Blue ink to write and pencil to draw diagrams.

G@llY : Qeuailammssrer epesmi Afejsmend CQsrarLg).

Note : This question paper contains three sections.

19fley - 1/ SECTION - I
(ngLCuemrser : 15) / (Marks : 15)

@Oy : () @Uaflele 2 arear 15 eflamssEndEn eflen welléseyb. 15x1=15
(i) e ys GHllaier Gar@ssiul_Herer pre wroHm edlenL safle
e sflwurear el ews CorblsHss er(wsab.
Note : (i) Answer all the 15 questions.

(i) Choose the correct answer from the alternatives given in the brackets.
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808 sam_eupmier erg LTFLUNWS Serers QETeaTLg) ?

(oyugn wrHpw Cewwiule lpgsen, AbsssHe wruay LTrHDHD
Qewwdiul’ L dersdr, s@s0soed e wruen wrHow Ceuwiul Leama,
umewig Eelssedled wIuay WTHHLD Qeiwiul Lene)

Which of the following is inheritable ?

(an altered gene in sperm

an altered gene in testes

an altered gene in zygote
an altered gene in udder cell)

Blogl 2 amed GLe UGSuled Crmi o e _régh mermemudif
(QerravGomig wib eneueursey, eranlur afeveeiq s, o fiCLrCert Gamor
CabiCwens, eafwrCesrailwib)

An example for protozoan infecting our intestine is __

(Plasmodium vivax, Entamoeba histolytica, Trypanosoma gambiense, Taenia solium)

LEGWD greiriseie Lredlaridumes wopuie poLGunb e Bspey.
(BHEYMHSD, (pareTsse, WamHid 2 (Heursd, LEhsEGCsiTsms)

In sexual reproduction of flowering plants, the first event involved in this is.

fertilization, germination, regeneration, pollination
& & P

seriy eal’ L 1pen&E Cosameuliu(Bieug)
(COpmid Bif, LFemswd, Giw gafl, Qe eargg)b)

The Autotropic nutrition requires :
(CO, and water, chlorophyll, sunlight, all the above)

ugewws eumy Ceuliublee wrHpb, wHmIb Lel QeuliLbrgme
THUGSHIEIDS!.

(ewamL_ e, op&adlemer, enfbl e, STTU6enL -L&men(H)

is a green house gas which causes climatic change and global warming.
(hydrogen, oxygen, nitrogen, carbondioxide)



10.

11.

3

o} LD&HL6D @&,gﬂés GaflLiueTaHET seurélésU LwETURHSSID TS S0mal
(afsblu_lm ﬂuaafaﬂgaﬁ 24, & 610 60607~ 6D [b L [ 3 61T, b L[ g6 - @b 601 Wi LD,
el with- bluimenr)

The mixture of gases used by deep sea divers is
(Helium - Oxygen, Oxygen - Nitrogen, Nitrogen - Helium, I—Iehum Neon)

pH= —log,[H"] @ semrseer amanl_rmear 2wefls Geple 0.001 M eravfley
ogen pH wdlly
(1,3, 11, 14)

pH= —log,o[H*]. The pH of a solution containing hydrogen ion concentration of
0.001 M solution is __

1, 3, 11, 14)

gL sTa@el L9868 LiweHD WD :
(meoy WsLiLepenp, HeAuITiy ¢perm, Nersrbsindfiy, WearamhuGSse )

A process employed for the concentration of sulphide ore is :
(froth floation, gravity separation, Electro-magnetic separation, Electrolysis)

a5 2 Carspd LTETessLe GCarbgre 2iBHE Qressweal eranm L.
upEsmar @ LILSDHE LU GLD BrFss0Em6

(Ag-Sn @resaemal, Cu-Sn Q)Tesaomal, g u|rredles, SISSHTS @U’&&&SG\JGH)GU)

Any metal mixed with mercury is called amalgam. The amalgam used for dental filling
is

obmsa GHLLSS® odmar (pse Gemoddler IUPAC Cuwi
(r&Sen, mHampen, THEHE, <181 1q eDeir )

TUPAC name of first member of alkyne is
(ethene, ethyne, ethane, Acetylene)

LeQ urindée 50 &8 Bleppujerer weflseflen erepL
(50N, 35 N, 380 N, 490 N )

The weight of 50 kg person at the surface of earth is
(50 N, 35 N, 380 N, 490 N)

3477
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12.

13.

14.

15.

4

055 Gpfoode __ upiy whp uriysen el s Cauugms
o I seUTdmg|.
( Qeuameno, GaTFllamyuLITer, &SHEnLo, LO(@HTET )

surface absorbs more heat than any other surface under identical condition.
(white, rough, black, yellow)

20 @b WensenL warer snidudled 02 A BlaGanTLL L 2 (reumss GaeneuiLi(HiDd
Benarpss GCeumur(
( 100V, 4V, 0.01V, 40V )

The potential difference required to pass a current 0.2 A in a wire of resistance 20 ohm
is .
(100V, 4V, 0.01V, 40V)

> Coors sLsdHule uryb BlarCarmiLb goeans E300) )
2 (HEUTEHEGLD.
( Qeutiuid, gefl, sTHgLD, ahiiredms )

An electric current through a metallic conductor produces around it.
(heat, light, magnetic field, mechanical force)

Lmenel Ljeold QLI(HLD SIETEUTE eDLIDEUS)
(s0SET Sy, GPWMg, Gellwry, GWCeens )

The field of view is Maximum for :
(plane mirror, concave mirror, convex mirror, concave lens)

9y - 11/ SECTION - II
(HQuaiTseT : 40) / (Marks : 40)

@iy :  gGsad PmuU SaTEsEREE efenL_wieflEsab. . 20x2=4

Note
16.

Answer any twenty questions.
urpbuflub gribs Ho WPsEW aurTsmsse ECy Qar@ssuul(HdTerer.
saupper sfluraeupep CoibEsGSs! T(RSIS.

(1) sryenilsdr @unAwie T urpbufws sryenflaeT <LGL0.

() erenug) @Gr Baflen wrpm QeuelLUT(H UG-

() — __ erenmug) 31060l 60l & (R em L1 6T &) T L GO LIGn LD LI L Cagmig &6
2 GLD.

( sidadla, rgur@serdpdlanorsd, e, 1@ CETLOTTL|SHET )
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Here is a certain important hereditary jargons, fix a suitable one from the list given

below :

(@) are the factors which form the physical basis of inheritance.
(b) ____ is ultimate expression of same gene.

(c) are contrasting pairs of alleles.

[alleles, variation, speciation, gene, allelomorph]

17. Qurms&s :
el L Blenser |@apurl (B Cprigsdr Crmi =M @l ser
eneuL_L Sler By aua el BIDL] @Gennur(h
aneuLl_L_tler C fésL e Lpsaiey @QrsssHe]
aneul_L 8ler D O\rss588la] er@bdsatled sTOAWID Gome]
eneul_Lflenr K Cuf@uf Qr$sd GMDGHD
Match :
Vitamins |Deficiency diseases Symptoms
Vitamin B, Scurvy Nervous disorder
Vitamin C Rickets Bleeding Gum
Vitamin D|  Haemorrhage |Defective calcification of bones
Vitamin K Beri - beri Profuse loss of blood

18. SpssarL UL Fws alrhg gCas@Ib Grean® UTERSmES @Hlésalb.

“.,) \,#f-

(Ceer 2 L b, g &evmern, Qg yrel, Haarss (pigeyl LGS saT)

[ Simys / Turn over
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Copy the diagram and label any two parts in the group given :

A sare . £
Au_f «j . =
s T

(4

LR
~ S‘, =t
T .

! .

y € ‘\.\\\ 7 | -..‘ e z
e A

(Cyton, axon, dendron, endplate)

19. Qarimler ougliumLufed CamglL QL s BlliLs :
(1) engrrsedlen - =, Eheno anmiGLomrer.
(<=1) o1 fereden -
Based on relationship fill in the blanks :

(@) Thyroxine : personality hormone.
(b) adrenaline :

20. Spssameupmer sflurer ¢upbi@ amwajwanifamer CsTH6s0H :
(<=1) ansCariieen — QalGLmedr - urddliesn — gUGerT ie60r
— Lwensblendlen
(<) Lumstenfley — nsCariicer — GolGLmes — LiTédliesr
— gLGermi e 6ot
(@) QeuGLmesr — aeGariiesr — ursdliesr — g UCaTT Lo 6
- Lwensblendlen

Pickout the item which has sequential arrangements :

(a) Zygotene — Leptotene — Pachytene — Diplotene — Diakinesis
(b) Diakinesis — Zygotene — Leptotene — Pachytene — Diplotene
() Leptotene — Zygotene — Pachytene — Diplotene —> Diakinesis

21. 2 iflemusEsd eupdlen QeariQuméss Wans@Esh GarHasiul (Herers).
@erldumss wepsamer sflwrer o ullflamsGerrh CuThssis.

1Glemg g6 evenLIGTTensGrm FFEV L

S Byse | Crm_GLrGareaienaer | SL_enL Li(p&Hs6T

glarLmge | WenrGumsleetd | urdiefluirdser
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The method of reproduction and the organism are given below. Match the type of
reproduction of the suitable organisms.

Fission Spirogyra Yeast

Budding Protozoans [Flatworms

Fragmentation [ Bryophyllum| Bacteria

2 Laflan revL i Gsillevl eremm SApipran impssliu@Apg. srraTsms

Bluruiu®ssis.

(<=1) 26l Qupliu@ib Semanss CaufluQurplsEpd Anbressea
Qupiiu®GSpgl.

(<) Smiprsn, Qrégsdean CaudLuQurp_seflen swflamwamws Cuandng.

(8) Ambrsb, 2L aléd Qumib mags Caudu@urmlsmarubd
QeuaCuipmSmg).

(7) AmfBrew, oL dlen owass Cafudurplsomayn GCsiflgs
MeUSHISCETETS DG

Master chemists of our body are kidneys justify :

(a) Kidneys acquire all chemical taken in the body.

(b) Maintain the chemical composition of blood.

() Kidneys send out all the chemicals taken in the body.
(d) Kidneys store the various chemicals, taken in the body.

LT lg. jevers Osm@Hamers seam Mgl 6TLpgis.
(=1) Lredblen, aumévyen, peraridLiemdl, (wpwe, Geuereumed
(=) wrevan, uamdl, @Elevy, sos, GIBIEG

(@) amqGeoml, DM, Lig, 6T(HenLD, &L DTG

(FF) B, Lever, (pgene, FmsLd, Liedl

One of the following groups contains a non-mammalian animal. Pick up the group :
(a) doiphin, walrus, porcupine, rabbit, bat

(b) elephant, pig, horse, donkey, monkey

(c) antelope, deer, cow, buffalo, black buck

(d) dog, cat, crocodile, lion, tiger

[ Smiuys / Turn over
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24,

25,

26.

27

8

LIHUTH DL BSH6T g e ufed R(mBISlenenTE)| (PGS
(<=1) Geul b uDsET : wreneuder ShSLD
(=) - D paTamd Lierdludlesr wpLseir

Based on Modifications make the pairs :
(a) Incisor : tusk of elephant
(b) : quills of porcupine

‘ETEEDTE HEOIFD POSADTONE LOTHDLIOL SN
(1) Cuopsear.. Ceweld assmaw Hapss BanL Clumiflmg) ?
(@) s pamauifl FELESDS 2

‘Sugar is converted into alcohol’.
From the above statement :
(@) What kind of process take place ?

(b)  Which micro organism is involved ?

&Qé;aaen’an_. 2 awra|F FmGllwl Ugsdg FNQslg, <smar <phme GFdn
LOTHDHELD.
weufl - Gmedl - sbueliiyss - umbs

Study the food chain below, correct it and convert into a pyramid of energy.

Mulberry - sparrow - caterpillar - kite

gopwa CsllsEs o2 gab sTsaTRIGmETS & D& s e bl 6l 1 b
Carb0sH&se L.

( @afipd ueyser, smdyfer s, @Aubi &CLpMl, Wlearhi @G b
LBiavLei efleté@ser, WlemamamLilen el )

Pick out the suitable appliances to conserve the electric energy.

(Florescent bulbs, Copper choke, Solar water heater, Electric water heates
Tungston bulbs, Electronic choke)



28.
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(m SrrogSd 2008 - 2009 siib g gHULL Hampm Crmisafian elleuyd
Ul L au@yULWLrs Qar@sésuul@eaeag. &amibs Cpréadl Spssemi
- NenmdsEnsE e wefléEsan. '

QL@ smusse,

S&@en @ewm

TGS TUISFFOD

(<=1) QuembLTeTaT WEsmeT FTESul CHMUSET WTenal ?
(=) ereuaurn @bs Crmusdr Lyeydlempern ?

The pie diagram represents a survey result of infectious diseases of a village during
2008 - 2009. Analyse it and answer the following questions :

Dengue fever
chikungunya

Cholera

Rat fever

(a) Which diseases affect the majority of the population ?
(b) How are these diseases transmitted ?

QumrmpbsTsms B&ES |

(1) 2.089f yosantd, LFme lesw, 2 udfl mai, CuLGrradlwb
(=) srerT, @l Huru®,cemérmg, FsCus

Odd one out :

(a) bio-alcohol, green diesel, bio ethers, petroleum
(b) Cholera, Typhoid, Scabies, Dysentry

[ Hlys / Tumn over
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30. Ugeflliqw saorsais@n. Ggell s sMIEQIEGWL 2 drar CoumurBHsamer
25°C -& &Gy CarRissiul Heter GHLLs6r EPEVLD GT(LDGIS.
(=1) 16 &l. NaCl 100 4. $fle
(<) 36 &. NaCl 100 &). i)
(@pluy - $flé NaCl - & senrdmern 36 £)

Distinguish between the saturated and unsaturated solution usin g the data given below
at a temperature of 25°C.

(a) 16g NaCl in 100g water
(b) 36g NaCl in 100g water
(Note : Solubility of NaCl is 36g)

31. srgaamyenw Hfled samrsg Gsehi @ Bleve senreme o (meursHw G er
Cupllsrar( sissmyamw SréEs (T ? HiD T HMSS H(HS.
You have prepared a saturated solution of Sugar. Is it possible to dissolve some more
grams of sugar to this solution ? Justify your stand.

32.  151x10% pevssamsamer Qarar_ CO, - ar Guordsefler eramaiéams wrg ?
Calculate the number of moles in 1.51 x 1023 molecules of CO,.

33. @@ saysdlan mapgrréald swealludear Gefley 1.0x1078 M arafld SIS 6T
pH wdlli eremer ?

The hydroxyl ion concentration of a solution is 1.0x10~8 M. What is the pH of the
solution ?
34. (21) S@TETTOUE HdDEHavF GOUBSSID Curg
(<2) Closaifluibd prreneus srhplé erflsen GLimg
e euenswiren Goudl eflenanser Hlaptd.
What type of chemical reaction takes place when

(i)  Lime stone is heated ?
(i) a magnesium ribbon is burnt in air ?

35. peian weuissan o Leiemanrulen Aniiy uarsaid TCseId @reamenL s,

State any two advantages of the Modern periodic table ?



36.

37.

38.

39,

40.

11

giflaflu < smaven. s aram® @@é@!w0b papudle oafefw
2 Corssans eer Qup (Pgwirg ? -

Why cannot aluminum metal be obtained by the reduction of aluminum oxide with
coke ?

CiHyg eram epadann euriur® Qsreir 2ADESF| WrHHILGIS®aTLLD TSl
2A5HGMw TUPAC Quuwifi@).

Write down the possible isomers and give their IUPAC names using the formula C4Hyp-

Camg L @) fisemear Blriiys.

(21) eflevs = Hleop x YO&sL erafld o Ben =

(=) Slyeu eamL_ene TrEGlsL g LweaTuRSng erafle e MRTULE
g Sseled LwsruBEmg).

Fill in the blanks :
(a) Force=mass X acceleration, then momentum =
(b)  Liquid hydrogen is for rocket, then is for MRI.

EDEaTERID & hHmsefle gaumiger ergia) Sl mLbGen sNQsiig -

(1) @@ Bl Lar elans eremig 2@ Srmd Heopujerer Qurmed 1ms=2
POsssms THL@SSD elasudar eareay GIETCTNY

(<21) eflenamuyib, erélreRaneumid eruGurgib @G Qummpefen Bg1 Qewdu@b.

Correct the mistakes, if any, in the following statement :

(a)  One newton is the force that produces an acceleration of 1ms~—2 in an object of
1gm mass.

(b) Action and reaction is always acting on the same body.

DADLUYE @GN &Ger Qar@ssliul. @érer Qerhsaid 2 luepenm
Corbhshiss) EDE@TL. L L_auenanTuSed Blrdys.
(@858BT80, STy, sriudr, srfub, srfw 2&man (), eilaflu )

@g;r'ruSle’maJrruj CeurdLrr Begeotd |-

erdliflemeumis | Qesemesd 1lansaih e

3477
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41.

42,

43.

44,

12

Complete the table choosing the right items from within the brackets :
(Zinc, Copper, Carbon, Lead, Leadoxide, Aluminium)

+ve electrode | Voltaic cell |-------
—ve electrode | Leclanche cell | -——---

1.5 V Baraflusgelams QasrarL @ulasoansd 5 @b, 10 @b, 15 @b
NengenL_ser wHmbd Lers sredl Qaipamn GFTLTIs QarerrL. g Wensnhm
UL SH60S GUMTS.

Draw the schematic diagram of an electric circuit consisting of a battery of two cells of

1.5 V each, three resistances of 5 ohm, 10 ohm and 15 ohm respectively and a plug key
all connected in series.

5 @b, 10 @b, 30 g WBlagoLsear @@ shfléd Uss Qaenliibe
@evarrésliLlDetatar. spBler GgTEuLeT el ST s.

Three resistances having the values 5 Q, 10 Q, 30 Q are connected in parallel with each
other. Calculate the total circuit resistance.

Eipé saTLaUD®DE GSHEGED SETEIET LTSHISMET 6T (HSIS.
(1) sa@TUTeemLS SLAUUESSHID QO el UL .
(=) samanfler Qumrpaflen 19bULD 2 @TLTED LFUL.
Considering this write down the names of the parts in human eye.

(a) Dark muscular diaphragm that controls the pupil.

(b) The screen where the image is formed by eye lens.

Demaumid aursdwusded Wewsafl@liler Hmssal

(31) sTHsLiob erampdiL (D QEHTEITL HETE.

(=) 815 dessCarhaer sTHeS Ggempamenila QgrLmdl euL_penenulied
(PigLLd.

Correct the mistake, if any, in the following statements :

(a) Magnetic field is a quantity that has magnitude only.
(b) The Magnetic field lines emerge from the south pole and merge at the north pole.




(<=1) QCs euamawimes Cloum @remr® euans GopuTHigEemer @19 6s.
(=) @upern & Gewiuyn ls5maes &6 LD,
You know that myopia is a common refractive defects of vision. Person with this

defect can see only nearby objects clearly. Using concave lens of suitable power this
defect is corrected.

(a) Mention other two types of defects like this.
(b)  Explain how can we correct it.

ifley - IIT / SECTION - 111
(LELCUeRTEET - 20) / (Marks : 20)

SOy : () @aGleumm LGSWIed 5 hgwD R e afgid BesT(E, ellanéa(amé,
eflenL_wiefl G aseyib. 4x5=20

@)  Csmeouwrer @ kiseflldy L ih GUEN TS

Note : (i)  Answer any four questions by choosing one question from each part.

46.

47.

(i) Draw diagrams wherever necessary.

LU@&&) - I/ PART -1
Gloetir_edlemr POUETL sl Csrgamearani eflarsé .

Explain Mendel’s Monohybrid Cross Experiment,

BT Gbang GLdmaTerT,

(=) Ups GrbmssE wse SDOTERSEEES aupriis Casawmgus G,
sGUYAsmer @i L auenanr SICFEES

() @850ULAs wod erpQsns Cpriseens 5G5S Guigid 2

Kala has delivered a baby :

(@) Suggest the immunization schedule for the baby in the first six months.
(b)  What are all the diseases that can be cured as per the schedule ?

3477
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48,

49.

50,

51.

14

L@ - 11/ PART - 1I

(=1) safl 2 meur@ Blapsflews s

(=) @phlsnéslfaar smésnrs eflaufl.

(8) <=phspeimas GHl&EL ULSHamar euarhg UTEREDETS G5,
(@) Name the process by which the fruit is developed.

(b) Give the development process in brief.
() Draw a neat diagram of that process and label its parts.

Lans, s eThiG Crrédlad s wamiob. Q&@ne 2 d posdhe
TOPST TS Sams. &l erfliuganmed ghuBb S UwsED Clewudsamar
L ig el (. |

Smoke, smoke, everywhere smoke. Do you agree this situation is good for health. List
out the harmful effects of coal burning.

L@g! - 11/ PART - IIi

(=) mpelor sEmEbamTasTaE]L EmaFeaTEns,  Hamaulder CanLmd  Lobnid
gpCLmens sa g i sanamiyb Garamh exh SememauliLhiiu Qgafleurar
eflensssens e fEss FailisTED. Geunile epeld HaSer iamis Camansude
o LRt o b i bheoes s

() SITUSSHEBEGLD (P0S FnmisEhEEGWlenL_ulle 2 crar Ceumur(ser erGseaid
QI TeRTIq.ENET 6T (LL&IS.

(@) Modern atomic theory takes up the wave concept, principle of uncertainty and
other latest discoveries to give a clear cut picture about an atom. State any three
findings of modern atomic theory.

(b) Write down any two differences between atoms and molecules.

THFT, TEHATUNS SlGFHL T LT 5655 Bled earalameude
eSlenanyfldlma).

(1) eNlewer eflenem Cumpafler Quwenrs GOLALayb.

(<) Qeuaflenarnuien Cluwers @Ok ab.

(@) Qeudilenanuier it 5556 Sllwslan L@ wrg ?

() erssemedlen Lwsnsefley @ramen & sam.
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ncentrated sulphuric acid.
(@) Name the organic product formed

(b)  Give the name of the reaction

(c)  What is the role of the sulphuric acid in the above reaction ?
(d) Give two uses of ethanol

U@l - IV / PART - IV

52. (=) Bleom |, cremi Geupdlhdlenr Cuiren Geumuir@aser O\ remment_ F ).
e o L : SO g = cMyms
() Bl Lafller miSwe eilflenws erapagys. [@BUSE: F *G_‘d_-_)_'_"
(a)  Write two differences between mass and weight.
(b)  Give the statement of Newton's Law of Gravitation.
{Note: F= G—’ﬁ:}@]
dl—
53.
Pie =
__4/?
s |/
R

(<21) Cula o drar UL gens e (Hib UM,

(=) @uuL b GOUAR g - :

(&) uLgden wédwivrear UTSRIS®aTs @ hléseyib,

() Qésrsenn TS oslousHen g iLienL il CleweL

Bélg.
(2) @ésrsanssa W6 Genmmi” g Sensemwis o

TE@mIL allfleni 2_GOTIT 651 5.

[ BUYs / Turn over



3477 16

(a) Redraw the above diagram

(b) This diagram represents

(¢) Label the parts of the diagram

(d) Name the principle by which it works

() Name the law to find out the direction of the current

-00o0-



